P a AR

e

5

Q1

S S L (L E

Tjéf'gj -
Aol 4 T?f?f % 1 4
Bz B H § 4oie 4
CE e

AR TETAT ByaO X 1 2% B b B30 BA K fodep o 0E
Bl s TATA B FORPHE D X 1 AR P P E G478 O AR
PRELS b pat o o

Q2

A LA R

Rl 2

E ¥ e )
ﬁ: - ERRS SICED
&3 81.1.11-~

81.1.10 % 88.6.12 i
P P 88.6. 11 '
—
<:,f;ij) 100% 70% 30% 0
JEANE
p B
- 50% 30Y% 10% 0

PliA BEaiba e atEs 100 80 21 (v (4 Bl ~ B 8)
i dips 10 S gH ey zeRivy g 8lL110w
Edo e Ap o & foRg s ((100410)%0. 71 =T7 & » p il
ﬁf’ﬁ]@f » (100%0. 7%0.3)=21 @ -
Q3: 4 AMKMAFAH | L BATF 2 22y A £0 0 2RIAP B4 > B2 2K K i
& R ? %‘v o

Q4 -

Y EF LG R
Al ?

3. m A 2P % in AT BT PR E
%"fﬂz iR A A AR H0%F LA o

LAPAFRE e e a2 s 27 AP RF et 0¥ it
Cor b *THAR) B t4= HF FH > RRFATFH R0 o ey

2.1t A AT IR e R E Y T EERY R ¥ E
FloegeflLmfle TR R F A B WR AR 2P F A EE

se—> (k9 AR RE 4 0% 4 -

Q5

[L#BeBirsE, ZRE8kere B3NP r 2 B EBEH w2
%@%ﬁ%ﬁ%,%?%%ﬁﬁﬁo
2. F ke £ A UGB > MR £




Q6 : 4 - @R | WP - R LB RR G R E Rt ARy

) 2 WU B EPWET A% AT DR R
& F 43 FRERAY A Ay
F 5 1 S AR BT/ 4T
§HH R - £ - £
Fo Aoz p 6 | F-F oA 2 p b
KEPFRT |BP &L " F AL | B nRBDLF= 2N
T9H - PP RATFH -
B | MR NA B E o 3D E P
W85y (3% a/s )
—_— ZE R 245 E P AT
2 4T EA Y 2 AT AR A Y
¥ £ 120, 000 96, 000
-4 120, 000 96, 000
=4 160, 000 128, 000
T A 200, 000 160, 000
A 240, 000 192, 000
oAt 280, 000 224,000
% KEATEBE 0 f FRERBE
T EEHy (FrEw /&2 )01,000
Bk ErBSE (R4 %A/ /5 2) 120,000
QT: s E#Ae AR | WMFEERE 5-FPRFLETH0F~ -
R ? Wr Rl S - X2 B E R En S ArRG P
WME SN BREREF A% Wy > DRRFRIEL -
&5 w0 LAY AR
17% & 4 2 AT/38 A 4T G
AR BE L 3 8

B XL BRI AE

B B RGRREE R R E K =

LT RS B A L
_&_l,(laj’ f‘—_ i
%’l’—l‘z?;ﬁo '%lzo— Pr'“:iﬁ
L 247% 5 A7 2% 90
e ~ 2ATE EATLR 0 F
4

Bl vadrg g o kdrg | R
o AR B o




